Here are a few naming problems from chapter 5
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(E)-5,6,7-trimethyloct-2-ene OH OH

(E)-3.4 5-trimethylhept-3-en-2-0l  (2)-3 4 5-trimethylhe pt-5-en-2-ol

= “,

(E)-4-chloro-2-fluoro-3-methylhe x-3-ene (E)-10-isopropylcyclodec-2-ene-1,6-diol

(Z)-3-bromo-6-chlorocyclohe x-1-ene
L
Cl

(E)-1-chloro-6-ethyl-4-isobutyl-8- (2)-4-ethyl-3-isopropyl-6-methylhept-3-en-1-ol
methylcyclooct-1-ene

Br

OH
(E)-4 4- dlmethylcyclonon -6-ene-1 3-diol
6-bromo-4-isopropyl-2 3-dimethylhept-
1-ene

E)-7-ethyl-6-methyl-4-propyldec-4-en-2-ol



